Catalog & Parts Listing: Team Associated 18T/MT |

Team Associated RCI18T
(Shown with Blue and Red body - sold separately)
\

L Team Associated RCI8MT

| Factory Team RCI 8T Kit

1:18 Scale 4WD Electric Truck

© 2004 Associated Electrics, Inc.




Team Associated RC18T/MT Team Associated RC18T/MT

» Exploded View \
21082 21132 21106
2107022107121074 (T) 21013, 21238 7 08 g e P )
ront Shock Kit:
20T2/21075 (M) 7 21012 m 15 i0m FT Front Threaded Shock Kit: 21216 ~ 21182
6929 21082 21027 213 Rear Shock Kit: 21183 2190
21033 (55 tooth), 21027 FT Rear Threaded Shock Kit: 21217 front. 21181
2132 21035 (80 tooth) 4118, 21030 2115, 2191 2214
21082 21017, 21106 21116 21180
IR 2222 21030, 21031 BTt
21025 21095, 21230 21106
213 21005 21106 Ho
21010, 21224 n -
6929 13 21085 21053, 21055 21096
M) 0T 21089 2082 2108 —21190
20105 71096
21003 \ZI 130
21082 21085 front 21198 rear 21202
21008,
21082 21220 -
21137 (280), 21129 (370) 29130 2000 21y
6338 2132 20105 21001 20133 21155 (T), 21152 (MT) 29136 L )
21239 21132 N139—
200 21091, 21137 (280), 21129 (370)
21093 \ , ,
- 20077 (6 25225 » Factory Team Options List
21025 (Fits 55 tooth), -
21017, 21078 (Fits 60 tooth) 21031 FT 18T Aluminum Dogbones, blue Pr. 899
21221 1140 21055 T I8T Titanium Turnbuckle Set Set  29.99
\ 91149 21093 FT 18T Aluminum Finned Motor Mount, blue | 14.99
% 616 (,Reedy) 21116  FT 18T Carbide Diff Balls 8 6.99
21082 21151 (280) 21214 FT I8T Alum. Threaded Shock Body, front, blue w/collar Pr. 1299
21040 2519 21210 (370), 21215 FT 18T Alum. Threaded Shock Body, rear, blue w/collar P 1299
25196 \ 21216 FT 18T Alum. Threaded Shock Kit, front, blue Pr.  19.99
w2 21082 >2I 132 21053, 21055 290 (Reedy) 21217 FT I8T Alum. Threaded Shock Kit, rear, blue Pr.  19.99
25196 21059 (T), 21064 (MT) 20220 FT Aluminum Suspension Arms, blue P 29.99
25196 21221 FT Aluminum Shock Tower, front, blue | 2499
21041 21133 21005 4118, 21030 21082 21053, 21055 21222 FT Aluminum Shock Tower, rear, blue | 29.99
21135 2131 21223 FT Aluminum Steering Blocks, blue Pr. 2999
noa 200 2104 215 21020, 21031 0052122 21058 (T), 21063 (MT) 20224 FT Aluminum Hub Carrirs, biue P 2999
21082 29128 / 21008 21220 1013, 5 21082 21225 FT Aluminum Caster Blocks, 0 deg, blue Pr.  29.99
21041 2519 ’ 21095, 21230 21227 18T Body Mount Supports, for front alum. tower 1 1.9
21082 21041 (XP, Ace, Futaba, Sanwa) 21016, 21223 21230 18T MIP CVD Assemblies Pr. 2199
21050 21049 (Hitec) 21085 2109 21231 18T MIP CVD Rebuild Kit Set 3.99
21041 21050 25215, 25392 21238 FT 18T Woven Graphite Battery Strap I 9.99
21041 WH 20080 208 o0 2008 21106 2109 ’ 21243 FT 18T Blue Outdrive Sleeves 419
‘ 21050 2131 21105 25392 FT Aluminum M3 Locknuts, blue 10 199 |
» Power System Parts \
4118 .014 Spring (Dogbone Spring) Pr. 200 21053 8T Suspension Linkage Set  3.99 21095 18T Stub Axles 1 8.99 21157 Pinion Gear, 1t I 399 290 Reedy Mini-Max Modified Motor [ 4499
6338 Antenna Tube & Cap I 200 21058 18T White Wheels Pr. 3.99 21096 18T Stub Axle Pins & Spacers Set 299 20173 Body Clips 12 1.99 616 Reedy Mini-Max 6 Cell 100mah NiMh Battery | 4299
21001 18T Chassis | 6.99 21059 18T Mini Pin Tires & Inserts Pr. 9.99 21105 18T Bearing, 4x 8 x3 1 450 21180 18T Shock Body, rear Pr. 2.50 20149 1100mah NiMh 6 Cell Battery Pack | 24.99
21003 18T Top Plate | 3.99 21060 18T Wheel/Insert/Tire, white, mounted & glued Pr. 1299 21106 18T Bearing, 8 x 12 x 3.5, rubber sealed 2 450 21181 18T Shock Body, front Pr. 2.50 20151 Super 280 Motor | 9.99
21005 18T Arm Mount, front & rear Set 2.99 21061 18T Chrome Wheels Pr. 5.99 21107 I8T Bearing Set Set 2199 21182 18T Shock Caps 4 3.50 21161 18T 4 Cell Alkaline Battery Harness I 3.99
21008 18T Suspension Arm Pr. 2.99 21062  I8T Wheel/Insert/Tire, chrome, mounted & glued Pr. 1499 21115 18T Differential Rebuild Kit | 3.99 21183 18T Shock Kit, rear Pr. 9.99 21210 Super 370 Motor | 11.99
21010 18T Rear Hub Carrier 1 2.99 21063  18MT Chrome Wheels Pr. 1.99 21129 M3 x5 BHPS 20 1.99 21184 18T Shock Kit, front Pr. 9.99 29128 XP CI016 Servo | 29.99
21013 I8T Battery Brace, 4 cell, 5/6 cell Set 3.99 21064 18MT Tires & Inserts Pr. 10.99 21130 M2 x 3 BHPS 20 2.99 21189 18T Ball Cup, short, for shocks 12 2.99 29129  XP Cl016 Servo Gear Set Set 6.99
21015 18T Caster Block, left or right 2 299 21065  I8MT Wheel/Insert/Tire, chrome, mntd & glued Pr. 17.99 21131 M2.5x3 BHPS 4 2.50 21190 18T Shock Rebuild Kit, rebuilds 4 shocks Set 9.99 29130 XP TR203A Receiver | 39.99
21016 18T Steering Block 2 2.99 21068 I8T Foam Tires, mounted, glued Pr. 1399 21132 M2 x 9 BHPS 20 2.99 21191 18T Shock Accessories Set 3.99 29136 XPS Micro Speed Control | 79.99
21017 18T Shock Towers, front & rear Pr. 3.99 21069 18T Body Decal Sheet & Window Mask Set 3.99 21133 M2.5x 6 BHPS 20 2.99 21197 18T Shock Spring, front, silver, 2.55 Ib/in Pr. 2.50 29137 XPS Speed Control Heatsink, blue I 3.99
21022 187 Differential & Input Gear Set  3.99 21070 18T Painted Body, blue, with decals [ 19.99 21134 M2.5x9 BHPS 20 299 21198 18T Shock Spring, front, blue, 3.0 Ib/in Pr. 250 29151  AC10v 120mah 10 Hour Wall Charger | 9.99
21024 18T Complete Differential Kit | 8.99 21071 18T Painted Body, red, with decals I 19.99 20135 M2 x 12 FHPS 20 2.9 21199 18T Shock Spring, front, gold, 3.45 Ib/in Pr. 2.50 29152 AC230v 120mah 10 Hour Wall Charger I 11.99
21025 18T Gearbox Cases 2 4.99 21072  18MT Flag Body, with decals I 17.99 21137 M2.5 x 4 BHPS 20 2.99 21201 18T Shock Spring, rear, silver, 1.64 Ib/in Pr. 2.50 .
21027 18T Differential Qutdrives, long & short Set 299 21074 18T Clear Body, with decals & window mask | 11.99 21139 M2.5 Washers 20 1.99 21202 18T Shock Shaft, rear, blue, 1.90 Ib/in Pr. 2.50
21030 18T Doghones & Springs Set  3.99 21075  18MT Clear Body, with decals & window mask I [1.99 21140 [8T Motor Mount Plate 1 1.99 21203  I8T Shock Spring, rear, gold, 2.35 Ib/in P 2500 30100 18T RTR 4wd Mini Race Truck | 279.99
21033 18T Spur Gear/Drive Cup, 55t | 2.99 21076  I8MT Decal Sheet I 3.99 20141 18T Diff Shims 4 1.00 21230 18T MIP CVD Assemblies Pr. 2199 20102 18T Factory Team dwd Mini Truck Kit | 229'99
21035 18T Spur Gear/Drive Cup, 60t I 299 21077 18T Chassis Gear Cover - 55t I 1.99 21146 18T Screw Set Set  6.99 21231 18T MIP CVD Rebuild Kit I 399 30110 18MT RTR 4wd Mini Monster Truck | 27999
21040 18T Servo Mount | 1.99 21078 19T Chassis Gear Cover - 60t | 1.99 21152 Pinion Gear, 10t (MT) | 3.99 21239 18MT Flag Kit | 6.99 21240 Factory Billet Full Aluminum Unerade Kit Set |9999
21041 18T Servo Saver, XP, Ace, Futaba, Sanwa Set 2.99 21082 18T Ballstud Set Set 8.99 21153 Pinion Gear, 12t I 3.99 25196 M2 x 8 FHPS 20 2.99 Y P ’
21049 18T Servo Saver, Hitec HS-56 Set 299 21085 I8T Hingepin Set Set .99 21154 Pinion Gear, I3t I 3.99 25215 M3 Locknuts 20 450
21050 18T Steering Bellcrank Parts Set 299 21089 8T Main Driveshaft I 6.99 21155 Pinion Gear, 14t (T) I 3.99 25225 M3 x3 Set Screws 20 199
L 21052 18T Turnbuckle Set, steel, with ballcups Set 7.99 21091 18T Motor Mount | 3.99 21156 Pinion Gear, |5t | 3.99 J)




» Factory Team Parts List

21031 FT I8T Aluminum Dogbones, blue Pr. $8.99 21224 FT Aluminum Hub Carriers, blue Pr.  29.99
21055  FT I8T Titanium Turnbuckle Set Set  29.99 21225  FT Aluminum Caster Blocks, 0 deg, blue Pr.  29.99
21093 FT I8T Aluminum Finned Motor Mount, blue [ 1499 21227 18T Body Mount Supports, for front aluminum tower 1 1.99
21116 FT I8T Carbide Diff Balls 8 6.99 21230 18T MIP CVD Assemblies Pr. 2199
21214 FT 18T Alum. Threaded Shock Body, front, blue, w/collar ~ Pr. ~ 12.99 21231 [8T MIP Rebuild Kit Set  3.99
21215 FT I8T Alum. Threaded Shock Body, rear, blue, w/collar ~ Pr.  12.99 21238  FT 18T Woven Graphite Battery Strap I 9.99
21216  FT I8T Alum. Threaded Shock Kit, front, blue Pr.  19.99 21240  Factory Billet Full Aluminum Kit Set  199.99
21217 FT 18T Alum. Threaded Shock Kit, rear, blue Pr.  19.99 21243 FT 18T Blue Qutdrive Sleeves 4 1.99
21220  FT Aluminum Suspension Arms, blue Pr.  29.99 25392  FT Aluminum M3 Locknuts, blue 10 1.99
21221 FT Aluminum Shock Tower, front, blue | 2499 29137  FT Aluminum XPS ESC Heatsink, blue | 3.99
21222 FT Aluminum Shock Tower, rear, blue I 29.99 r ST P )
. . erformance Springs!
21223 FT Aluminum Steering Blocks, blue Pr.  29.99
\ —
— Aluminum
(F?WJD a—— Threaded Shock
P A g Bog;a&eplast?cccalar )
Py m—
:/ _f:_/_/_ _/_ 4/ évailqble in:
zr’o 5 tl'4: Pair, bodies & collars only
29137: XPS Alum. 21216:pair, complete kit Front:
ESC Heatsink Rear: 21197:Silver - 2.55Ib
oy He o
21230: MIP CVD Assemblies  21093:Alum. Motor Mount \ - 21199:Gold - 3.45b
Rear:
21201 Silver - 1.64b
21202: Blue - 1.90lb
21203: Gold - 2.35b
21223,21224,21225:
2103 1:Alum. Dogbone 25392:Alum. M3 Locknuts  Alum. Steering Blocks, Caster 21238:Woven Graphite
Blocks & Hub Carriers Battery Brace
21221,21222:
L 21061: Chrome Dish Wheels 21 116: Carbide Diff Balls 21055:Titanium Turnbuckles 21220:Alum. Front & Rear Arms Front, Rear Alum. Shock Towers

» Ordering Instructions

See Your Hobby Dealer For Spare Parts First!
Support your local hobby shop. If parts will not be available in your area, you may order parts directly from Team Associated. Sorry, kits are not sold to
individuals.

1. Write out order description on separate sheet of paper. Indude Parf Numbers, Description, Quantity desired, and Total Price of each item.
2. California residents add 7.75% sales tax.

3. Add ground shipping fee of $7.50 to all orders (AK, HI, PR is $15). Extra charge for Next Day Air ($30) & Second Day Air ($18) applies. International
orders call for details.

4. All international orders must be prepaid by International Money Order in U.S. Funds.

1
DO NOT SEND CASH: Credit Card Orders Welcome
Name: NOTE: Credit card orders are ONLY sent to credit card billing address!

ﬁjj:::: Card Type (circle one):  VISA ~ MC  AmEx Discover
City: ' State: Tip: Full name on card:

Country: Card number:

E-Mail: Signature:

Phone: ( ) Expiration Date: /

Mail order to: or call: (714) 850-9342. Please have your order ready before calling.

or fax: (714) 850-1744, with credit card order with above info.
or place your order on the web: http://www.TeamAssociated.com.

\

\ Z

Associated Electrics, Inc.

3585 Cadillac Ave. Costa Mesu, (A 92626 USA © 2004 Associated Electrics, Inc.




